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PART I: WRITING (30 MARKYS)
PART Il: READING COMPREHENSION (30 MARKYS)
A. Choose the best answer according to passage 1. (5x2=10 MARKYS)
1-b 2-C 3-b 4-c 5-a

B. Complete the table below with the information in passage 2. (10x1=10 MARKS)

1. London 6. Rome
2.8,416,535 7. ltalian

3. France 8. Spain

4. French 9. Madrid

5. ltaly 10. 3.2 million

C. Put a (V) in the correct box to say whether the following statements are TRUE or
FALSE according to passage 3. (5x 2=10 MARKYS)

1. FALSE 2. TRUE 3. FALSE 4. FALSE 5. TRUE



PART Ill: USE OF ENGLISH (40 MARKYS)
A. Read the following text and choose the correct alternative. (6x0.5=3 MARKYS)

1. B (left) 2. A (was) 3. B (younger)
4. B (to) 5. C (his) 6. B (a lot of)

B. Underline the correct form of the verbs in the following dialogue.
(7x1=7 MARKS)

1. can't 2. has arranged 3. are going to leave 4. Have you ever travelled

5. for 6. cheaper 7. must

C. Complete the second sentence so that it has a similar meaning to the first
sentences using the word in brackets. (5x2=10 MARKYS)

1. .....for ten years.

2. .....used to tell.....

3. .....are delivered by.....

4. .....am going to travel...../ .....am travelling.....

5. .....who wanted my advice.....

D. Fill in the gaps with aword from the box. (7x1=7 MARKYS)
1. singer 2. pop 3. concert 4.openair 5. sore throat

6. high temperature 7. painkillers

E. Match the questions with the answers. (7x1=7 MARKYS)
1l-c 2-a 3-f 4-b 5-d 6-e 7-90

F. Complete the text with the correct form of the words in brackets. (6x1=6 MARKS)
1. national 4. beautiful

2. natural 5. crowded

3. fishing 6. pollution



